H & 0l & AHS B Ml A

Oll&t LB MSEAED 2022-12-30 10:48:07

SN HSEASD
3N MSESHANZLEY
gelr Hsgsds (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HsEAE 13,043,478 16,109,963 A3,066,485
= 57,082
Jl 821,723
= 1,131,559
Al 11,033,114
HS2sSTANLE=S 10,381,899 13,612,828 A\3,230,929
7l 600,980
= 1,071,251
Al 8,709,668
IS8sd8 8,858,488 12,237,585 A3,379,097
Il 600,980
= 1,041,251
Al 7,216,257
HNEgsid 1,361,993 1,626,437 N264,444
201 er2 3| 25,264 26,974 1,710
01 AtR2te|HI 25,264 26,974 A1,710
2=l 11,115
OX= g2=8 S 2,470,000 2,470
oAZx OPHE 2= NH
1,710,000 1,710
OMBta XIEH0HE el 82
2,565,000& 2,565
Od=Uz RX E2=2 M=
1,311,000 1,311
oslad R 22= MA
1,311,000& 1,311
OAE=2A 0|8 EE 874,000 874
OdEH= gF=d 874,000 874
O=¢&H| 9,025
OH=gs g8 S 5,700,000& 5,700
O=MEL2DIUE & PRFA
1,900,000 1,900
OXEHDEHE Ul 7R S
1,425,000& 1,425
o2z 5,124
OtidE &X2d =Xl S XA gx
427,000 « 1212 5,124
202 048l 4,536 6,480 N1,944
01 2L AL 4,536 6,480 A1,944
OHMS2SNA EFFL S
4,536,000 4,536
301 22N = 11,500 11,500
11 dALEEIXIE S 11,500 11,500
ON=SSXIAH DtAEE M= 2HUE S
L 24 3,000,000& 3,000




A HEEAEN
I SESUNLSY
gelr Hsgsds (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O&= SH0ttEUR BoHA 24
7,000,000& 7,000
OZXAP| HOIEZUR IO 22t
1,500,000& 1,500
307 212+01& 1,283,693 1,579,483 A295,790
02 LB MANHEE 873,630 1,176,682 303,052
O SAMENFA A Fel=4d|
33,120,000& 33,120
OLHSHSN A Scl=d|
33,120,000& 33,120
O=.5.10 e|EsH =X
20,000,000 20,000
ORHI223] ZH M2t XEH &= Otct=
k=l 64,260,000 64,260
OAN2I2SE dEdrud 23
5,000,000& 5,000
OdEx=s d&=4 7,150,000 7,150
OS5l & AKE =&
5,000,000 5,000
O&=0ld dEHsU2 10,000,000& 10,000
OH=elo & A} 10,000,000 10,000
OE=0Z4 HEHFU2
6,000,000& 6,000
O BEwA 29 5,000,000 5,000
ORH212] ZHAIE)| SHSUE oS4
M=z 17,700,000 17,700
O&=MHE & AEHE S8 HY
10,000,000& 10,000
OAMEDIEHE= WA 9,000,000 9,000
OXNe0e Met=x oMz
200,000,000 200,000
OHM02 XE&H =M SCiell 2
31,500,000 31,500
OS=HH =l & 2SSl s&X
Bl 10,000,000 10,000
ON7a Het=E SLEAEM AlZiE =
U= 30,000,000& 30,000
OHI52| ZHAIZE =203
10,000,000 10,000
OH4zl ZHAIEH E=2EUE s
3,870,000& 3.870
OHI52| ZHAIEI] NESH U3
5,000,000& 5,000
OHNes FAHHH HHEBIE S
5,000,000 5,000
OX6al SHXEA WHELISHUS
5,000,000 5,000




£A: HAE
BH: SESUNLRY
e a2sds (Ete &
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OH253 DHMXEHSU OI0IEN S US
6,050,000& 6,050
OH203 ZHAIZH s =203
10,000,000 10,000
OHN73] ZHAIZD| MS0I=HILIAUS
4,000,000& 4,000
OHI153 MESREME 8= QLE &3
6,480,000& 6,480
OHN218] MA=SERIAD| Al2CHE EILIAH
3 1,000,000& 1,000
ON113 ZHAIEE SS2! HILIACHSE
1,000,000& 1,000
ORH26al ZHX B M=2550! HILIA
= 9,810,000& 9,810
ON172 ZHAIEI EHEE 0=
4,410,000& 4,410
O22E NEHH 43018 SSeI=3d &
= &30S 5,000,000& 15,000
OHBE 2NAIEI| Het=s MEH=E 2%
Chal 8,000,000& 8,000
020238 MBts X8H M= MEXs S0
3 15,000,000& 15,000
OH53 ZHAED| SHUE ZAUSE
7,000,000& 7,000
OH143] ZHXELE &= SFU3
26,400,000 26,400
ON172 ZHAIED| SHUHE =02
13,770,000& 13,770
OH193] ZMAIRD| M= EHI S
28,350,000 28,350
OHL3 RN BLE A= HALHS]
10,000,000& 10,000
OH72 2HAEI| HAZUHE
10,000,000 10,000
OH143 2HAIZED] ALZIC! OF2TUS
6,840,000& 6,840
020233 HOIE=E3 HalEIH]
3,000,000& 3,000
OXI182] ZHAIZH SHSUE HOIE=SNU
=) 3,500,000& 3,500
OHB53 LHABLEH M= At 0FCHE
20,000,000& 20,000
OF=Z0C! M=El 25,000,000 25,000
OZHAl ZOoHe! M=selol 2 At
3,000,000& 3,000
OZ2EdEeIEs stitSM=UE
3,000,000 3,000
OAAZAl 228 &= SO0IAH0IESUHS
3,000,000& 3,000
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A HEEAEN
I SESUNLSY
ol HSEEXS (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OE==0t2! XMsUsl 5,000,000& 5,000
O SSHH al E8H|
6,000,000 6,000
O dEH=sus 29
3,000,000 3,000
OMES=HENMON OtetEU2
1,400,000 1,400
O&SXHEHR! M=
5,000,000& 5,000
OsSHSH=2 MSHA X
30,000,000 30,000
OR2e] SHAIEH SEUE
10,000,000& 10,000
OHI62 ZHAIZH SSx=d 8= =20
2 6,480,000& 6,480
O UMM F A=A =c|=HH|
21,920,000 21,920
OZe d=2H=s X2 4,000,000 4,000
O=0t=2! AOIEE W& 1,500,000 1,500
03 I EE2SHIE X 410,063 402,801 7,262
OZHAIMS2 AR 2EH|
35,000,000& 35,000
OLRAIISS MM eloas 2|
6,000,000 6,000
OZHAIHF= HE S04
166,432,000 166,432
OZHAIMS =2H22=¢
5,000,000 5,000
OZHAl Z02IMF2 AHRE 23|
15,000,000 15,000
OZHAl ZOIH=s 23 S0
179,631,000& 179,631
OZHAl 2O =2 =d2F+E
3,000,000& 3,000
402 2I2E X201 & 37,000 2,000 35,000
01 QI X2 AL E R (KHMITHE) 37,000 2,000 35,000
OZMHAAH=F2 AN=ES 7Y
2,000,000& 2,000
OZHAIMF= &) 7L
10,000,000 10,000
OZ0t=s HEHSAMEIA OIS
25,000,000 25,000
UBMS TSI A BIXI(ESXR)(2X) 184,128 177,848 6,280
Jl 92,064
Al 92,064
307 elzto| & 184,128 177,848 6.280
Jl 92,064




SN HSEASD
3N MSESHANZLEY
gelr Hsgsds (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 92,064
02 QA AAEE X 184,128 177,848 6,280
OSSN 25 KA (L)
184,128,0002 184,128
Jl 92,064
Al 92,064
HEAMSHSXIEA BIX(2SKH)(EX) 184,128 177,848 6,280
Il 92,064
Al 92,064
307 elzto| & 184,128 177,848 6.280
Il 92,064
Al 92,064
02 2B YAIHE A 184,128 177,848 6,280
OMEHSXN X HIXI(H24!)
184,128,000& 184,128
Il 92,064
Al 92,064
ZOHQ! MESHSXIEA HIXI(2SKR)(EX) 122,112 118,565 3,547
Il 61,056
Al 61,056
307 elzto| & 122,112 118,565 3,547
Jl 61,056
Al 61,056
02 2B YAIHE A 122,112 118,565 3,547
OUENSXEZA 25 XA (Z0H)
122,112,000& 122,112
Il 61,056
Al 61,056
MetHsna 2E(2X) 19,174 19,174 0
= 5,752
Al 13,422
307 elztol & 19,174 19,174 0
= 5,752
Al 13,422
02 2IZHBYAIAE & 19,174 19,174 0
OdEsud =9 19,174,000& 19,174
= 5,752
Al 13,422
S4E ERWA 2H(EX) 10,140 10,140 0
[ 3,020
Al 7,120
307 glztol & 10,140 10,140 0
= 3,020
Al 7,120




2A MSEAEDL
B FRESUAlLSY
gelr Hsgsds (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
02 QIZHBAAIEER 10,140 10,140 0
ORr4Ad SFuA 28 10, 140,000 10,140
T 3,020
Al 7,120
NEHESSS0 ORI (BxX) 39,773 39,773 0
& 11,962
Al 27,81
307 212+01™ 39,773 39,773 0
T 11,962
Al 27,811
02 QIZHBAAIEER 39,773 39,773 0
OAl.2 S3°0i210 8¢9 39,773,000 39,773
= 11,962
Al 27,811
RN 2IE(Bx) 19,250 19,250 0
& 5,775
Al 13,475
307 212+01™ 19,250 19,250 0
& 5,775
Al 13,475
02 QIZHAAAIHE X 19,250 19,250 0
ONEXs 2EXNEX 29
19,250,000& 19,250
= 5,775
Al 13,475
AZR2AH0ISA KNA(BX) 416,100 240,550 175,550
| 291,270
= 62,415
Al 62,415
301 LetEHZ 416,100 240,550 175,550
| 291,270
T 62,415
Al 62,415
01 AISIBE X 2GS (2 LEZME) 416,100 240,550 175,550
OAZ=2T 0183 X3 A
416,100,000 416,100
| 291,270
T 62,415
Al 62,415
Nl AL RALOIZAIL(EX) 42,180 25,500 16,680
| 29,526
T 6,327
Al 6,327




A HEEAEN
3N MSESHANZLEY
gelr Hsgsds (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 42,180 25,500 16,680
Jl 29,526
== 6,327
Al 6,327
01 AR 2EHSHS(RNEXRTHE) 42,180 25,500 16,680
OZ0je! AX=2AF0|EH XIS
42,180,000 42,180
Il 29,526
== 6,327
Al 6,327
ZHESAEEZY 2EXNA(FIEEXH) 30,000 0 30,000
307 lztol & 30,000 0 30,000
02 2IZHB A E & 30,000 0 30,000
OZHAE=Z2Y 2L
30,000,000& 30,000
HEALES 813,260 520,000 223,260
401 AIZHIX 20 663,260 530,000 73,260
01 A28l 659,860 590,000 69,860
OS8S 272 HMSAL(2S)I+ S) &X
169,860,000 169,860
OSHsE HSAE =& & 25
190,000,000 190,000
OZot WA= AIEHE Al
300,000,000 300,000
03 Al = THHI 3,400 0 3,400
OMSAEESE ALY
3,400,000& 3,400
405 AHAHE S 150,000 0 150,000
01 AL =S F = 150,000 0 150,000
O=dH SEHs2 81 7Y 50,000
OHIYESTH(EE) 25,000,000& 25,000
OHME33(UE, s72U 3)
25,000,000& 25,000
O |dE+E &JIs 7Y
100,000,000 100,000
Jtatsa AN BZARY(EX) 70,000 0 70,000
Jl 35,000
Al 35,000
308 AXIMSO0IA 70,000 0 70,000
Jl 35,000
Al 35,000
08 WEJ|20UStEx 70,000 0 70,000
OZHSE=SE W Itsd AXXY B
At 70,000,000 70,000
7l 35,000




SN HSEASD
3N MSESHANZLEY
gelr Hsgsds (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 35,000
-8 -3 AdUN0IESE ZdAME 2,200,000 200,000 2,000,000
== 660,000
Al 1,540,000
401 Al HIZL S 0HYI 2,200,000 200,000 2,000,000
< 660,000
Al 1,540,000
01 Al&H| 2,184,160 200,000 1,984,160
OZH AUAHOIESE ZH(SEY)
800,000,000 *99. 28% 794,240
= 238,272
Al 565,968
OUT AUHOIESE Ta (%)
700,000,000 %99.28% 694,960
< 208,488
Al 486,472
OZH AUAHOIESEH =L (EXY)
700,000,000 *99. 28% 694,960
= 208,488
Al 486,472
03 A& S THYI 15,840 0 15,840
O AUANOIESE =8(SEY)
800,000,000&+0.72% 5,760
[ 1,728
Al 4,032
OZH AUAHOIESE Z-(H7H)
700,000,000&*0.72% 5,040
= 1,512
Al 3,528
O AUANOIESE = (SXY)
700,000, 000&+0.72% 5,040
[ 1,512
Al 3,528
AA2SAIIR2Y(EX) 662,000 662,000 0
= 36,000
Al 626,000
301 EtE N = 662,000 662,000 0
= 36,000
Al 626,000
Rzt - 2SEsS2EY=S 662,000 662,000 0
OXE=s FJIR 29 662,000,000 662,000
== 36,000
Al 626,000
AEXONE R 28,250 7,500 20,750




SN HSEASD
3N MSESHANZLEY
gelr Hsgsds (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 6,500 5,000 1,500
01 At2teltl 5,000 5,000 0
OAZXOAEXNR BRFH S
5,000,000& 5,000
02 S3=gHl 1,500 0 1,500
OAZX0ANE ERFA S
1,500,000& 1,500
202 04| 2,750 2,500 250
01 =LHO LI 2,750 2,500 250
OAZXOBEXNA BRFH S
2,750,000 2,750
401 Al&IEI L2 CHE] 9,000 0 19,000
01 Al&H| 19,000 0 19,000
02T SHVBX TLHE HAR
19,000,000 19,000
d= 2 & =9 el =X 550,000 0 550,000
307 212+01& 550,000 0 550,000
02 LB HANHEE 550,000 0 550,000
0F=2 2 T o9l 03l 81
300,000,000 300,000
O3] B2EDAY 1T HRoI0H3
50,000,000& 50,000
ON3s 2 48 & 2B d=ES
St EfA =M= 160,000,000& 160,000
O&Xzd RIIX2 40,000,000 40,000
d= ¥ & o2 e |KI(EX) 50,000 0 50,000
= 50,000
307 21201 & 50,000 0 50,000
< 50,000
02 2IZHBYAIHE £ 50,000 0 50,000
OHN33 Bt=xSHY s 42 & F
8 d=ZSSTUEAEU2
50,000,000 50,000
= 50,000
HEdSHE+E 50,000 0 50,000
207 ARl 50,000 0 50,000
01 H2E4H| 50,000 0 50,000
OZHA HSHSHE =8 E4
50,000,000 50,000
CRMEXE 6,000 0 6,000
201 et 3| 3,000 0 3,000
01 At22t2l] 3,000 0 3,000
Ot~ 3,000
OCONEXNE HRFN S
3,000,000& 3,000
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SN HSEASD
3N MSESHANZLEY
=?el NsESAE (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 3,000 3,000
01 2LHoIH 3,000 3,000
OX2HEXNE g20 S
3,000,000 3,000
COHE A % 2E(EX) 2,000,000 0 2,000,000
=S 200,000
Al 1,800,000
307 21201 & 2,000,000 0 2,000,000
< 200,000
Al 1,800,000
02 2B HAHE L 2,000,000 0 2,000,000
OXNe0s Met==2IM=FUE! OHE
2,000,000,000& 2,000,000
= 200,000
Al 1,800,000
ESHHEAE2E 1,523,411 1,375,243 148,168
=S 30,000
Al 1,493,411
HEAE 2E2¢c 775,608 650,614 124,994
101 ©1AH| 299,272 179,662 119,610
M ORNZZ2NSE S 299,272 179,662 119,610
O=S2ZAH1Y) ¥ HHRY(BH) J=22 &
gx3 37,100,500 *4% 148,402
O=SLAH(1Y) & IR (3Y) 4UEEE
S 300,666 «4H*12& 14,432
OAN2IZSHS3Y L (28,28
ez 28s 28 28,132,000% 28,132
OAMNRESH SIS (ME, 8XHY, =2
A EEE IS 19,692,000& 19,692
OZAIE 2EEAMA J125(4Y)
20,190, 000& »4H 80,760
OZAE 22EAMIH4Y) AHBEE S
7,853,790 7,854
201 223 442,572 444,992 A2,420
01 At22t2lt] 10,522 12,942 A2,420
et-EH| 8,422
OANSxt B A Hd
200,000 200
O=g& I €94 JHEE 7
500,000& 500
OAEZRIEBE 2 (4HA)
920,000 920
Ot & 7 (4Hx) 2,836,000 2,836
OMYDISE 7 (502IE) (40 4)
1,126,000& 1,126
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2A:

H=&AE 0

3N MSSHANZL2Y
thel: SIHSAIE2E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFALdsdd HAES 78
920,0002! 920
OALIHSE BAEE P
920,000 920
OZHSE HARE 7Y
500,0002! 500
OAREE T 500, 0002 500
on=t| 600
O+YUM U AFQA 202
300,000 x2&H 600
O=t| 1,500
OHM=EAlE 2= 1,500,000& 1,500
2 s5=44l 432,050 432,050 0
OZZ22s<HAl 417,050,000 417,050
O =H| 5,000,000& 5,000
OAIZ ZHI= X 2,000,000 2,000
Oxtgrdet] 8,000,000& 8,000
202 04l 3,564 3,960 A39%6
01 =LHA LI 3,564 3,960 AN3%
SAdae] g 3,564,000& 3,564
206 M=l 12,000 12,000
01 M=4l 12,000 12,000
OANZESHESE W HM=H 2
1,000,000 #32] 3,000
024 ¥ =282 7Y
500,000& 22 1,000
O31ZA U 2F YT 7
1,000,000& 1,000
Ox=2d 38 7Y 3,000,000& 3,000
ON=HYE H=H| 500,000 32 1,500
OHZEZY ARE(MEIIE 8)
1,000,000 1,000
O+ oINS 24 7
1,000,000 1,000
O==3% Z0{Eoa =& E4 7
500,000 500
405 AHaHE = 18,200 10,000 8,200
01 It =S F = 18,200 10,000 8,200
O==ZZ HEced gA)7 (Y
&l 9 2F) 9,000,000& 9,000
O2UMs2 88 &30 7
9,200,000& 9,200
HEAE RAES 533,623 629,290 N95,667
101 e124d| 15,060 11,740 3,320
M ORINZZ2NSE S 15,060 11,740 3,320
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A HEEAEN
3N MSSHANZL2Y
thel: SIHSAIE2E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OdstxZH € =20 ==cl
5,000,000& 5,000
O0lel0l 2=01E RAES
5,000,000 5,000
OCaUiHz2 Y RLIE M2
4,000,000 4,000
OFadEa2t (CTV 22l el
220,0008x 122 2,640
206 MH=H| 21,840 21,840
01 M=4l 21,840 21,840
0+8% 47 U HLAE S 79
8,000,000& 8,000
o= F2M(+=3& M=)
100,000 12& »24 2,400
O=0I12 =3AME 2= 2,000,000& 2,000
O3 &4EH| 1,440
OEFH 12,0002 x20kg*3E x2)H A 1,440
Od2g d2i4 AZH(WS2, =S F)
2,000,000& 2,000
OHSAEZS &) 225 728
100,000 *35+10H 3,000
Otl&4ed)] 25U 500,000 500
OAlE2e88 7Y 2,000,000 2,000
0020l E=018 2342 7
500,000 500
401 AIEHIX SO 360,200 457,543 A97,343
01 AlZH| 368,000 455,000 /97,000
OANZIZSHE32 Ads B3 AHOIA,
HI1) 90,000,000& 90,000
ONMEZSHSSE AMEs FIIAEEE 8
A 20,000,000 20,000
OZUMAMF2 =& L4 SA
100,000,000 100,000
OHEAESEEH XS It Al SAt
13,000,000 13,000
OZAETSEUE 0ISE WX SA
70,000,000 70,000
OARIZRSHHSIEY W ZYAL B A
15,000,000 15,000
ONZESHESE g gEHE IV EX13
At 50,000,000& 50,000
03 Al 20HHI 2,200 2,543 A343
OMSAE SN2 AE2UH
2,200,000 2,200
UXSHE 2e| 57,519 67,519 10,000
201 Ler23| 50,019 50,019 0
01 At2teltl 6,069 6,069 0
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A HEEAEN
I YSHSUNLSY
=2l EHSAE2E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
DETIES=T 6,069
O®I| ormBR| fHL42
220,000 x 122 2,640
OROIMSHE 52T 22| (18 2
2,429,000 2,429
O&EX S HABE 79
1,000,000& 1,000
02 S3=gHl 43,950 43,950 0
O3 LHA(EIIRS S)
33,950,000 33,950
OAlIZ ZHI= I 10,000,000& 10,000
206 M=Hl 7,500 7,500
01 MHZH| 7,500 7,500
O34 2 28 LM 7Y
1,000,000& 1,000
OE2% & U=sHNs2 Hss83 78
5,500,000 5,500
O=2UHFHH MRS A
1,000,000 1,000
ZOoHeIH=2 22l 42,670 27,820 14,850
101 @124H| 4,500 0 4,500
M ORINZZENSES 4,500 0 4,500
OS2 =8 B8l S 4,500
OZMAXS2 B EHI(ME, sSLE,
aXHY 5) B0, 0052 4,000
Oo4tiEE= 100,0002 5% 500
201 Ler23 | 23,170 23,320 A150
01 At2t2lt] 5,170 5,320 A150
2et-EH| 5,170
OEfZ4H| ®IletEze] Y|
80,0002 122 960
OZME A2AIE 2ACIUH ES
3,210,000& 3,210
O3¥Xl & 3282 7Y
1,000,000 1,000
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